Trend lines for yearly data 
The following time series data represent the quarterly amounts spent on advertising (in millions of dollars) by a large toy company (read across): 
	Quarter 1
	Quarter 2
	Quarter 3
	Quarter 4

	16.3
	14.6
	15.8
	14.3

	16.8
	14.1
	16.0
	15.2

	16.4
	15.4
	14.2
	14.6

	17.4
	15.6
	16.6
	15.9

	18.5
	19.6
	17.9
	18.8

	19.8
	19.9
	16.1
	20.5

	21.0
	 
	 
	 


This series of data begins in Quarter [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?2]of [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?2%3A%3A6](i.e., time period [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?w%23%3E%232]corresponds to the first quarter of [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?2%3A%3A6]). Using regression analysis, a linear trend line of the form [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?W%3Fpva%3Dw%3F%2Cpva%3D%23%3E%2327%2D37%23%28%233%2D11%23w]was fit to the data. Using this information, generate a forecast for the total yearly amount of money that will be spent on advertising in [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?1323].
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